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Time : 3Hrs.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

qo-A € w20 wel @ IR <, AT YT & A 1 AF 2|

Answer all Five questions from Group B, each question
carries 4 .f”f”'f{_'&'_

1u-B @ wft uig weal & 9w & uAS U B W 4 3B 8 |

Answer all Five questions from Group C, each question
carries & marks.

79-C & weft of= yeal @ 9o <, U@ Ue &1 A 6 A0F 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
Uh W @ OH HI BT 9N U &) oE (RaR w9 )

el gifee, argen 4 wid 9 W "ad # |

The figure in right hand margin indicate marks.

T Ul @ IF Ul B qad @ |
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Choose the most suitable answer from the following

options : 1x20=20

watfrs Sugad fasea &1 g fad

(i) Artificial Intelligence has its expansion in the
following
(a) Planning & Scheduling
(b) Game & Playing
{¢) Robotics
(d)y All of the above

iy  snfEfRRraa gefemie &1 A=
g o aruer fawar 27
(31) ArorEr st TEy ey
(&) 19 o
(W) aifean
(?) Swaa a

(i) In arule-based system. procedural domain
knowledge 1s in the form of :
{a) Production rules
(b} Rule interpreters
(c) Meta-rules
{d) Control rules
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e fFram amafa gonel A, ufsharcas
SR S &1 WY

(a1) Scurea—faq

(@) fram aren s ara

(&) wer-fam

(&) Frazer—fm

The ficld that investigates the mechanics of
human intelligence 1s :

(a) History

(b) Cognitive scicnce

(¢) Psycholo
(d) Sociolog

V

o
=
r

\

g &4 ol wFd qfg & e &) 9ig
&l B

(an) sfera

(1) "earTS o=

(@) wfasm

(@) amRe ure

What is the name of the computer program
that simulates the thought processes of
Human beings?

{a) Human [.(}gic

{b) Expert System

(c) Expert reason

{d) Personal information
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R[S YT & AW 1 2 Sl 9
@1 faare yfparan &1 agaEver sar 82
(a1) wrdia a®

Which of the following 1s a component of an
Expert system?

(a) Inference engine

(b) Knowledge base

{(¢) User Interface

(d) All of the above

Fr=ifeiRaa d & &9 ve fasiss yorrel
@I U HUCH 27

(&) AT g5

(@) SIT91 &7 IR

SR EIESIIETAL il

(@) Swiwa a

,,,,,,,,,,, is/are the well known Expert systems
for medical diagnosis systems.

(a) MYSIN

(b) CADUCEUS

(¢c) DENDRAL

(d) SMH.PAL
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e, IfRCTT g B foU uftig
fagtest yomefy & /&

(31) "1 / MYSIN

(d) CADUCEUS

(d) DENDRAL

(@) SMH.PAL

A problem in a search space is defined by one
of these state.

(a) Initial state

{b) Last state

(c) Intermediate state

(d) All of the above

Wil go9 & 999y 399 | fadt e
Rerfer & gRwmfya eidY 2

(31) uRfaa argeen

(€) 3fd 3raeer

(\) weaad! araeer

(7) Sugaa aH

What kind of clauses are available in
conjunctive normal form ?

(a) Magic tec

(b) Klystron

(c) Magnetron

() TWT
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fpg ydR ® WS Suds & duddld
arde o o

(31) fewiger anw fagd

(@) fewsiger ame dRvad

(W) &oraer= ame fogda

(€) ®oraerT amp dRvad

When the resolution is called as refutation
complete?

{a) Sentence 1s satishable

(b) Sentence is unsatisfiable

(c) Sentence remains the same

{(d) None of the above

wid daed &1 gfafrgfea gof e smar
2

(1) areT SAdleuED @

(@) areg IAITAAD @

(@) arag 98} TEar ©

() 9 9 @I TE

Which 1s not a property of representation
of knowledge

(a) Representational verification

{(b) Representational Adequacy

(¢) Inferential Adequacy

(d) Inferential Efficiency
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54 ° @i w9 @1 ufaffereg a1
gy =18l 87

(a1) ufafsfer wcamu«

(a) wfaffer gatwar

(=) arfermrra uaian

(=) srcaflera <eran

............ is called the father of Al
(a) James C Gosling

(b) Dennis Ritchie

(¢) Alan Turing

(d) Isaac newton

—a! fUar ee1 s @ anfEfRrad
geforoie @1

(a1) siwg Y MR

(@) Sfwm R

(W) et egRa

(?) 39® e

In Al........... 1s a combination of data structure
and interpretive procedures.

(a) Knowledge

(b) Meta-knowledge

(c) Artifictal knowledge

{d) Performance
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yfhar &1 v galoH 2
(31) =
(@) #Aer g+
(a) & s
(%) u<sfq

LISP was created by :
(a) John McCarthy
(b) Marvin Minsky
(¢) Alan Turing

{d) None of the above

LISP faa gRT a7 1341
(a1) wif9 A& reff

(@) afaq et

(u) votrd <gRa

(@) g9 9§ B3 €

n which of the following situations might a
blind search be acceptable?

(a) Real-life situation

(b) Complex game

(¢) Small search space

(d) All of the above
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frfaRaa § 9 & Rl & <ngs
wd w8 adan ¢ |

(a1) areafas a1 o) Rerfa

(1) widla @d

(@) e wd |Ww

(?) Sugaa g+

In AT programing. a list may contain:
(a) Cells

(b) Fields

{¢c) Pointers

(d) All of the above

AT O &, 3 4 81 aadr 2@
(31) 9@

(@) wiesw

(W) dfged

(%) Sugad wl

Fuzzy sct theory defines fuzzy operators

choose the fuzzy operators from the following

(a) AND https://www .sbtediploma.com
{b) OR
{(c) NOT

(d) All of the above
P.T.O
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wofl ¥¢ Rigid wofl 3R &)
gRurfa @xar ¢ | Fr=felRaa §7 9wl
Jravex g+

(31) AND

(@) OR

(&) NOT

q) Sugdd |

Which particular generation of computers 1s
associated with artificial intelligence ?

(a) Second

(b) Fourth

(¢) Fifth

(d) Thard

HYeY &I B A fAgiy O
anfEfRrae gefasie 4 §& 2
(31) s

@) T:ﬁan

(|

) i
(=) ?ﬁ?m

How many possible sources of complexity
are there in forward chaining ?

(a)l

(b) 2

(c)3

(d) 4
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(wiihy BiXas AfET 4 sfedar & feaq

(xix)

(x1x)

(xx)

dHrfad g 2 |

Which 1s mainly used for automated
reasoning?

(a) Backward chaining

(b) Forward chaining

(¢) Logic programming

(d) Parallel programming

39 & @i siicrdds dufi & fov
ST BT 2

(a1) d®as Afr

(1) wivas dfmr

() @iffore grarfi

(?) Terer wrarfa

What 1s Artificial Intelligence?

(a) Putting your intelligence into computer
(b) Programming with your own intelligence
(¢) Making a Machine intelligent

(d) Playing a Game
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anfEfpRrae gefasie ar 27

(a1) ara=Nt gfgHacar & e A sre
(@) aud e @ 9f& & wrer g
(@) 72fm & gfgam e

(8) & @d ddn

GROUPB

Answer all Five Questions.

4x5=20

ol 99 gl & IR © |

Define Artificial Intelligence and Explain the
characteristics of Artificial Intelhgence. 4

S0 gfgacar s aRwfya s i s
qfgaca @) [@Oydar &1 we #7

OR(31214d1)

Explain the state space representation of
Water-jug problem?

dareY O UHET &1 e Wy & gRT &d

& |
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Describe the Heuristic search technique.

egRitesd ad asle & aviq a3 |

OR (31274T)

What is predicate logic? Explain the predicate logic
representation with reference to suitable example?

gy a@ @u1 37 Suydd Irev & wed o
fagy a& Freuvr @ e & ?

Define Expert system? Explain in brief about
application of Expert system.

fagres vorell &1 gRerfyag #7? fagys
UuTTell & QUi & 94 H gay ¥ qdid |

OR(31214T)

Differentiate between Expert & Traditional system?

fashag 3ty yRuR® yonrell & =9 &1 3fax
qare ?
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Discuss the tic-tac-toe problem and explain how

it can be solved using Al techniques? 1

fep—2@d—cl 99wr o g4l $ 3 94
f v and aefle & Syl e 39 B4
o far st uear &7

OR(312147)

Define Artificial Neural Networks & its
application.

@39 deee dcdsd A IUD JTUAIT
&1 uRuTfyE H?

Explain A* Algorithm
A* TeMRe @1 aaemsy |
OR(31214r)

Explamn and compare DFS & BFS Search
algorithm.,

Shtepry iy flvweyd @il ventRen «)
AT IR o1 @ |

https://www.sbtediploma.com

wiod ewopdipaigs mmm//sdy
[dipa1q . y



wod ewo(dipaiqs mma/sdny

NGBS 15

Answer all Five Questions.
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6x5=30

gl gig go) & 9 @ |

7.

What 1s Hill Climbing? Explain Simple Hill
climbing and Steepest Ascent Hill chimbing.

fod aerefdT Far 27 wr=r &3 9vd fed
Bbols a4 AN ) fd dargfan ?

OR (372rdr)

Explain the state space with the use of 8 puzzle
problem.

8 Uuldl UHET @ QUG | W Wy DI
ARAT B ?

Explain the different issucs in knowledge
representation with the help of suitable example.

6
Sugdd IAERV B Gerrdr 9§ s ufififee
7 fafr= g &1 awsnsy ?

OR (3fexdT)

Describe following facts into predicate logic.
(1) Every child loves santa
(11) Everyone who loves santa loves any reindeer
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deal &1 dui- faey ae # &

1) X d@dl Hal & RN HYdl &

2) &Y $Ig W "ar 4 YR ST 98 Fa3
QIR B

What do you understand by the term Fuzzy logic?
How is a fuzzy set denoted mathematically?
6

Hofl difoTe @ My 7 993 & ? 9 Holl
e wfrdg wu ¥ Fefua gar &)

OR (3721dT)

Explain syntax and semantic analysis of Natural
language processing in detail.

fea 3ty fudfes greqrel &1 fagdwor & |

Transtorm each of the following sentences into
disjunctive normal form. 6
(@)~ (P& Q)& (PvQ)

(b) ~(Pv-Q) & (R—S)

(¢) P({Q&R)«>S

fr=rfafiaa amgn & @ s @1 Swifaea am=
wy F yRafda av |

() ~(P& Q)& (Pv Q)

(b) ~(Pv-Q) & (R—S)

(¢) P=>({Q&R)S
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11.

OR (3127147)

Discuss the areas of application of Artificial
Intelligence?

&M qfgaar @ squAatT @ 843 9w g4t
N ?

Describe m detail the steps to implement frame
knowledge. 6

BH S $ AR &¢ B Aol &1 faer A
auiq & |

OR(312141)

Explain the N-Qucens problem. Write the algorithm
for solving the N-Queens problem.

U] a9 UHRIT & 9N H qdre | U @d)
GHERIT &1 8cd &1 @ o1y vaniRen ford |
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